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1 4 (85K HE NPOE S\ #{KIgI57 5.30 7.70 0.00 | 13.000

2 | 3 |HEH: HkAD IVCIJLRGHA T B 5.15 7.70 000 | 12.850

3 2 |iL#E FEX AxY 5.15 7.65 0.15 | 12.650

4 1 |E+E EFE |NOVAFHKIEISD 4.85 7.25 0.00 | 12.100
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2 | 4 8K HE NPOE S\ #T{AIgI57 5.75 7.65 0.00 | 13.400

3 | 3 |HEH: Bk IVYTJ)LRGHA T B 5.25 7.90 0.00 | 13.150

4 1 |E+E EFE |NOVAFHKIEISD 4.90 7.30 0.00 | 12.200
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1 2 |i#E FEX AxY 5.65 7.60 0.00 | 13.250

2 | 4 8K HE NPOE S\ #{KIgI57 5.45 7.70 0.00 | 13.150

3 1 |E+E EFE |NOVAFHKIEISD 5.65 7.15 0.00 | 12.800

4 | 3 |HE# #kan I PI)LRGHA T AT 3.70 7.05 0.30 | 10.450
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1 2 |iL#E FEXR AxY 5.65 8.15 0.15 | 13.650

2 | 3 |HEH: HkAD IVCIJLRGHA T B 5.00 7.75 000 | 12.750

3 | 4 8K HE NPOE S\ #{KIgIS7 5.55 7.50 0.60 | 12.450

4 1 |E+E BFE |NOVAFHKIEISD 4.30 7.00 0.00 | 11.300
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1 2 |iE EXE 14> 12.650 | 13.550 | 13.250 | 13.650 | 53.100

2 | 4 |85K HEE NPOE S\ #{KIgI57 13.000 | 13.400 | 13.150 | 12.450 | 52.000

3 | 3 |#EH: #ksn IVPI)LRGHAT AT 12.850 | 13.150 | 10.450 | 12.750 | 49.200

4 1 |E+E EFE |NOVAFHKIEISD 12.100 | 12.200 | 12.800 | 11.300 | 48.400




